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Ins{ructions for the candidaies!
1. el e viva o asl o ) aoe )
Candidalea aro requited lo pive thelr anaweta i ihelr own words aa fa a8 Preciionive
2wl ke @l w A ge iyl 1A mvd &
Flguren in tha right hand mamin indicate lull marky,
3 gur ger ux o euagdo wan) B 15 Mz ot SRR v e a0 ]
15 Miriutos of oxira tima has baen allotiod for the canciidales lo mad i cpiaalions carehily.
4 g avr-uy q) gl F § Uy - o V7 8 - ¥ |
This quostion papar ia divided info iwo sections - Bagllon - A ax! Beotlon - fl.
5wy - ¥ 40 aegfres gvr & ol e el &) gl B 13 1 ot fwilRa ) gl v
guwar avr) u) oMA - uue yNw o [ ) ud g i) w0 Wer v Yy
Al off sTe @ W /e varl/ &8/ uge ik wr vie YRt oY wabr wenr

sr & arrenr w0mr afors sy W

in Sectlon - A, thero ara 40 objective type quostions which ara compuilnory, each oarrying 1 mark. Darken
the circle with bluoblack bail pen against the correc! option on OMR Anawer Sheel pravitied to you.
Do not use Whitenor/Liquid/BladerNall ofc. on OMR Shool; otherwise the result will be invalid, '
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in ion - -
Section - B, there are 23 short answer type'quesiions.or 5 subjects under Soclal Sclence (each
camying 2 marks) as below:

History has 5 questions (@10 Q.5). out of which any 3 questions are to be answared.
Political Science has 6 questions (Q.8 10 0.13), out of which any 2 questions are lo be answered.
Economics has 3 questions (0.16 1o Q. 18). out of which any 2 questions are to be answered.
Geography has 5 questions (Q.21 to 0.I25). out of which any 3 questions are to be answered.
Disaster Management has 4 questions (Q.28 1o Q.31), out of which any 2 questions are to be answered.
Apart from this, there are 8 Long Answer Type questions (.6, Q.7, Q.14, Q. 15, Q.19, Q.20, Q.26 and
Q.27). Each camying 4 marks. Out of eight questions answer 4 Se!ecﬁng one each from History, Political
Science, Economics and Geography. '
7 ﬁ?ﬂme?s#aﬁﬁﬁ FYFH FT HIIT QoA afsdT &/

Use of any electronic appliances is strictly prohibited.
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wvg —3[/ SECTION-A

awfs wva /Objective Type Questions

mmrv}mnﬁm‘m)wma}mmﬂmm@vwgW??Vwmz?faw#
(40x1=40)

grr g av w) Rwey B oMR - We a7 AT e d

Question No. | to 40 have four options, out o which only une is correct. You have to mark, your selected
i v y

option, on the OMR - Sheet. (40 x1=40)

SRETS, yle T R, sefare ¢q el qaET |
History, Geography, Political Science, Economics and Disaster Management.

Lo a0 a5l RIS B ar?

) AREl By T
(©) Ry gmua (D) g

Who was the founder of *Young Europe™

(A) Mazzini (B) Garibildi

(D) Mussolini

(<) Victor Emmanuel
2. R m R e S en?
(A i (B)  Feol
(© F (D) W
Who was the *Sick man of Europe™
(A) Turkey (B) [taly
(C) England (D) France
3. @rel o @ ST e gan A
(\)  oef B Fwis
(C) Wi (D)  Urts
Where was Karl Marx born?
(A) Germany (B) England
(C) France (D) Eoland
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m%ﬁ‘#mﬁimmaﬁmﬁmaﬁ%ﬁ?

W g (B) 1900
i = (D) 1916
In which year did Gandhi Ji establish the Sabarmati Ashram?
(A) 1895 1900
ohl: ks @ 1916
S TR W B e e A
) S o B) TR W
© e D) P WD
Who founded the Brahmo Samaj?
(A) Raja Ram Mohan Roy (B) Dayanand Saraswati
© Vivekananda (D) Ramakrishna Paramhansa
6. I g @1 ISR fFe e ar
(A  wwem ®) o e
(C) Em3d@ (D) . ¢H &
Who invented safety lamp?
(A) Crompton (B)  James Hargreaves
(C) Humphry Davy (D) John K
7. siRishg sfas wrea o wie 59 af g¢?
(A) 1917 (B) 1919
(C) 1921 '(Di e .
In which year the Intemational Labour Organizum:; )was cs::;l:l:shcd.
(A) ‘ 1917 o o
(©) 1921

8 mﬁmmmﬂmmw

Afrs @ B 7T i e mE TR
(A).

w3 D) o FE ® faQ
(C) AT : -
- in Patna was- r
The purpose (0 built GO::::: = (B) To keep the Arms and ammunitions
(A)  Tokeep e @)  Toworship

(C} TO kﬁep g]':l.ins
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W #1 SRER AR & i ga?

(A) WA (B) T
(<) Ol g m
In which country the invention of paper took place?
(A) China (B)  Germany
(€ Jupan (D)  Rome
0. Reg@m Ry & varm Rxe s fea? -
(A) g au B N fEs
(C) H9E%d &6 (D)  wfeaRrR fa=
Who started the publication of the *Hindustan Review'?
(A) Ramakrishna Varma (B) Sri Krishna Singh
(C) Mazharul Haque (D) Sachidanand Sinha
1. Feh Pred) Sugm @ -
(A)  FE P o (B) . dnifi@ e
() WS f (), 7 & fom
Black soil is suitable for -
(A) Cotton y (B) Litchi
(C) Wheat (D) Millet
12. wwaife auf &l 2 -
(A)  qfor % (B) RGeS
(C) - @fa ¥ (D)  ARRERE F
Highest rainfall occurs in - '
(A) Pumia (B) Cherrapunji
(C) Kochi (D) Mawsynram
13, e gam o & -
(A) dad (B) ¥
(€  dfa 3R own < 9 ) dmwmIRRAR
Brass is made of -
(A) Copper (B) Zinc
(C)  Copper and Zinc (D)  Copper, Zinc and Tin
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14,

FH{
(A) ﬁqﬂ@ﬁi Pl e yeifer
(C) ™ | i Frra
Which Faga (U}
" Of these js not the Primary energy? i
Natura) gas (B) Petroleum
(©) ElﬂClrir:ity (D) Coal :
15 AR g &
(A) U forg | ®) e & fog
© g IS B fiyg O N IR & R
NﬁPanagar i1s famous for . -
(A) Sugar (B) Cemient
(C) News print Paper (D)  Cotton textiles
16. 219 e difes A B i 27
(A) ek B)°C @
©).  faafm p ®) war
Pulse is the source of which nuttition?
(A) -Carboh}'draie (B) Protein
(C) . Vilaminp (D) Fat
17. ﬁ%ﬁﬁmmmﬁwmqﬁﬁ?
(A) ¥ e (B) ¥y
(C) 9= L I -
Which industry in not based on agriculture?
(A) Cotton cloth B)  Cement
(C) Sugar D)  Jute
18. 7 ¥ B W wA T I ot 22
A) T e - 2 ®) M ey
(©) IVEPT HE&T - 5 M)  Iomm filc: S
Which among these is the longest National Highway?
(A) Highway no. 2 . (B) HigI'IWay no. 3
(C)  Highwayno.5 (D) Highway no, -
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19. WRA BT FH TS TN B -
(CYR B) o
(C) P (D)  Fiedl
The biggest port of India is - '
(A) Mumbai (B) Chennai
(©) Kolkata (D) Kandla
20, #=R 2w fa forer & fera 87
A) ¥R (B) TR
(€ @ D T
Mandar Hill is situated in which district?
(A) Munger (B) Bhagalpur
(©) Banka (D) Buxar
21, 16 & e § Ren Wl @ wwA fra 87
(A) 81 (B) _63
(C) 65 @) ", 67
How many women members are in the 16" ok Sabha?
(A) 61 (B) 63
(C) 65 D) 67
22. TRWS w4 @1 187 $9 g3 A7 http://www.bsebstudy.com
(A) 1 FqvEY 2000 (B) 9 Tg¥Y 2000
(C) 15 9%} 2000 (D) 15 TN 2001
When was Jharkhand state formed - ' ’
(A) 1 November 2000 (B) 9 November 2000
(©) 15 November 2000 " (D). 15 November 2001
23, 1977 @) daE @ A A 5 7@ B W g e
A) R e ®) v o
€ ArdE IS PN @) AR TR 9
Which party got a clear majority in the 1977 Lok Sabha election?
(A)  Bhartiya Janta Party (B)  Janta Party
(0 Bhartiya Rashtriya Congress (D) Bhartiya Communist Party
7 [21 1] A ' Page 7 of.16
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A AR TS T A e a9 gl

(A)  1sss s (B) 189
C) 185 (D  1%0
When was the Indian National Congress established? -

(A) 1385 (B) I8N
(C) 1895 D 190

25. AoEd S o TR 5w 7§ gn?

(A) 2012 (B) 2013
©) 2014 (D) 2015
In which year the election of the 16® Lok Sabha was held?

(A) 2012 ' (B) 2013
(© 2014 D) 2005

26. I TN T WF S e 2?7

(A) vUm : (B) W
(C) e D EhE
Who is the head of the village kutchery?

-(A) Panch (B) Sarpanch
(C) Pramukh (D) Justice friend

. 27, adva e wé o g e T
(A) & @1 Ul (B) i & G
© T R o=

What is the election sﬁnbo! of the Bhartiya Janta party? _
(B) Lotus flower

(A) Hand paw
- © Marigold (D)  Wheel
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() 160 il 1EY ) s el i

Unicber NIV AG Wit s e proviston of minbmum mmbey of ihiys of eniplygiient fons puapal iabmnens
b yenr’

(A) Por XD duyn (8) Vo 125 days
() Vaor 150 duyn ) Vor 200) dinys
M, e i dlvarir e i ndel md 11 i A
(A) 16 W 1050 (1) 16 (Hay 199
() 16 Magad 1051 ) s 4 oand Al
When the Plunning Commission wis estublishied in India?
(A) |5 March 1950 (1) 15 September 1950
(C) |5 October 1951 (1) Noneof these
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32.

35.

HIRA A R sttt €2
(A 14 (B) 19
© 2 D 2
How many Nationalized banks are there in India?
(A) 14 (B) 19
© 20 D 27
S TEDR A G airaredh spfed & -
A) o v ggw ®) . sFa T
© A gw M) A T W
Bangladeshi economist honoured with Nobel Prize is- | :
(A)  Prof. Igbal Yunus (B)  Md. Igbal Yunus
(C) Prof. Md. Yilnus . (D) Md. Shafik Yunus
G gl & W ued @ -
A = @) P
(C) 9T D). ™ ¥ i
What ase the key components of human capital? |
- (A) K'nowledgc ' | (B) Skl
(D)  Allof these

(C)  Experience
AR ERER 3 G &1 SR s wa aRka fear

(A) 2004 (B) 2005

(C) 2006 (D) 2007

When the government of India passed the ‘Right to Information Act’?

(A) 2004 (B) 2005

(C) 2006 (@) 2007
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qug -4/ SECTION-B
. “Jh—ﬂ?tﬂﬁla g /Non - Oblective Type Questions

STY_STNIY yed / Short Answer Type Questions

zfrgrii /History .

T SIS 1 9) 5 oy ey e ) g 2 o 3 9 @ T
il &

i Y wuestion
'Qm'x!!un No. 1 to 5 is short answer type. Answer aily J questions. Eaclt q

merks,

2 aE & [y 2 5
(3x2=5)
carries 2
(3x2=6)

Lo 9@ @il 1 any aar wery {4 .

What do you meun by October Revolution?

2. R @S s @ g gRem gan?
What was the result of the Civil Disobedience Mavement?

3 4 Rea g & 5l @ ol 1 vt Y|
Describe uny two causes of the First World War.

g A qur A s 22 “
What is world market?

5, ARl T §2 T @ S 87 i
What is manuscript? What is its utility? |

el Iadg w9/ Long Answer Type Questions
gwT Ty 6 dif 7 I gl yew &1 5 8 Bl v ar aaw @ (ax1=4)

Questions No. 6 and 7 are Long Answer Type questions. Answer any one of the

)

2)

Jollowing. ' (dx1=4)
6, af @ Wia (3 Syaferl R gET ST | ”
Throw light on the life and achievements of Lenin,
7. ﬂriiﬁﬂﬁﬂaﬁﬁ!\mai’fﬁmﬁl . -

Write the characteristics of the Indian press.

Page 12 of 16
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SRy fas / Political Science

¥ 98T 8§ 43 @mmffﬁﬁ#ﬁiﬁzwa}ﬁﬂ?f{m$ﬁ?2ﬁ
Reifa &

(rz=4)

Question No. 8 to 13 i short answer type. Answer any 2 questions. Each question carries 2
s (2x2=4)

IIR® W Y Wi e & g S a7 ”

What will you do to promote communal harmony?

9. - RU® I B e vt T @ | l?’

) What are the main objectives of Chipko Movement?

10, Wi e Wl TR Tl @ T B m
Describe four problems of Indian Democracy.

1 !/ ™ PRl T R v ?
What is secular state? (2)

12, |Eadl T 87

What is concurrent list?

(2)
13, TR Tl B DR T 3% gEE < :

Suggest two measures 10 make palitical parties more effective.

& gadm w3/ Long Answer Type Questions

mw’mrua#?rsa?!faﬁi’hmifﬂ?’fﬁmﬁwaﬁ?ﬂ (4x1=4)

Jollowing. | .
14, e @ 6l W Fron a1 fad |
Write any four causes of Communalism.

/n;fmmzawmmﬂﬂﬂl )

Write main functions of Political Parties.

[211] A Page 13 of 16

by:BSEBResult.In



efyres / Economice -

mﬂWrai:}mém,,ﬁnnqﬁwzﬂﬁfﬁ
V& Fuffr & -W)
Question No. 16 to 18 is short answer type. Answer any 2 g¥ estions. Each question carries
2 marks, G
m.'rm SR WO g wew 87 @
& What is the impontance of economic infrastructure?
}/’ﬂwrﬁm W A T W L
| What do you mean by cooperative? ,
18, SRR B W B W - 7w ¥ s 8 - =
~ What are the different ways by which consumers get exploited?
& Swrftg gwiz/Long Answer Type Questions
'm#aarrsmhmmfawﬂam!fs##mﬂwwaﬁ?ﬁ. (4x1=4)

Questions No. I 9 and 20 are Long Answer Type questions. Answer any one of the

Jollowing. http://www .bsebstudy.com (4x1=4)

19, -fER @ aftfs Redua & T FRO & | ‘ i
. What are the reasons for economic backwardness of Bihar? . e

o, defiow d RER W Ay .

/Explain the ;:ffects of globalization on Bihar.

[21 1] A ' Page 14 of 16
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*[niiel / Geography

T W 21 @ 25 g ardy e & g @ R 3 W @ O 3] e @ v 2
e R &1 (p2=t)
Question No. 21 to 25 is short answer type. Answer any 3 questions. Each question carries
2 marks. : (3x2=6)

21, A ! i ? )
/ﬂﬁfmﬁ P WO T s @

Why is the preservation of natural resources necessary?

2

/n/wmakmﬁﬁmﬂmé? (2)

Why is Maharashtra famous for the production of cotton?
Jz&fﬂ?ﬁlﬂﬁmmmﬁﬂmw‘fﬁ @
Why is petroleum more important than coal? _

24, Sl & g I dew ¥ . @
How does pollution spread from industrias? L
25, ARG & frg Femrt w1 7w €7 | 2

What is the importance of water ways for India?

& soig w¥/ Long Answer Type Questions

ma@rmaﬂ?zfﬂ#wﬂvmﬂﬁ##wwwaﬁfﬂ (ax1=4)

Questions No. 26 and 27 are Long Answer Type questions. Answer any one of the
' (dx1=4)

Jollowing. )
26, el W @ — 1 3 W 3 T Y (4)
Describe the effects of mining activity on the economy.

27, ey Yo uRaga A ferard & o B ‘ )
/ Describe the characteristics of Indian Rail Transport.
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ANUET wae / Disaster Management
; #rRv2
- WET W 28 ® 31 ﬂymmffsﬁ#MZWﬂf$W?!W
)
& it &1 (2=,

: sach question carries
Question No. 28 to 31 is short answer type. Answer any 2 questions. Each

: (2x2=4)
2 marks.

2)
28, T | 39 T NI 22

What do you mean by Disaster?

(2)
29, W% A B ah Tl A e PR

Discuss the damages caused by flood.

(2)
30, ¥ ¥ Ta B < 2 Sunl w1 I X )
/

Mention any two measures for safety from earthquake.

10 2
/Jl/ﬂ?r'ﬂ A A D I T e BN | _ (2)
Mention the measure for safety from Tsunami.

fagr §1¥ & wdfda @afl cerastdt,

@s%zza;a WA, ,nz.'f?rzr
&3, 2

mﬂaﬁrﬁﬁmﬁﬁmﬁm
e Urel & fAT...

BSEBResult.In
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